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noMI FES L~FHRIBN L
H H HAr L AR =N &
A B m® 57.65 55.25 112.9
P AR 4 — b ” 10.75 21.00 31.8
=
M
7
)
|
[N
at U 68.40 76.25 144.7
T i (ZEE T R m’ 77.3 70.5 147.8
P ART F— )b I 46.7 93.4 140.1
it I 124.0 163.9 287.9
B e HEE: (IETH) 82.4 78.9 161.3
T &t U 82.4 78.9 161.3
ML m 0.7 0.7 1.4
m? 12.6 12.6 25.2
T fhm® 150.9 140.3 291.2
FARTF—v " 37.0 78.8 115.8
&
%
T
i u 187.9 219.1 407.0
D 32 kg - - -
D 29 kg - 7,324 7,324.0
D 25 kg 4,261 1,975 6,236
ffﬁ D 22 kg 2,324 226 2,550
D 19 kg 261 248 509
D16 kg 1,658 1,363 3,021
D 13 kg 240 258 498
A1 T5 m’ 285.7 144.1 429.8
R ” 186.5 37.4 223.9
HERL HRLERID 1.OmA U 3.5 5.8 9.3
HRELFERIC 1.0mLL b ~4.0mA T " 140.0 94.3 234.3
+ MR LURERIB 4.0mPL k= U 76.2 105.2 181.4
Bt 228.1 -46.6 181.5
T
URREATTELS 2 1:1.2 m? - - -
1:0.5 Z - - -
BTk 1:1.5 " 68.0 - 68.0
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Fap=X [
m BE t= 0.700
AR [T T Sl= 133.757 m? T EEA] ®-= 62.948 2
PN ZE B S2= 56.665 2 TR @ = 10.347 p?
VZaNaiN=VZ/0 BN ® = 5.076 m?
1. 37—
v =( s1 - 2 + ® - O )X 0.700 = 57.654 m°
2. 7l
BT AL = st - 2 0+ ® - ® = 82.363
YmA2 = st - @ - sb = 68.559
1l m A3 = ( 4.500 + 2.000 + 6.009 ) X 0.700 = 8.756
A2 + A3 = 77.315
A = Al + A2 + A3 = 159.678 2
UMV 1=0.7m 17.987m2/m X 0.700 = 12.591 2
SN FIBHLALE LD
3. BET
Vo= Al + A2 = 150922 fm?
HFARTF—V
R
sa = 7.500 X 4.500 -1/2 X 7.000 X 3.500 = 21.500 m?
sb = 0.500 X 4.500 = 2.250 2
8.200 — 0.700 = 7.500
i 8200 500
=y T T
=1
o 8 S
2 2 =
(2]
' [ 7000 1200 ‘ ‘
1. 37—k
v = sa X 0.500 = 10.750 m?
2. 7l
“A = sa X 2+ 0.500 X 1.000 + 0.70 X 4.50 = 46.650 m?
3. B L
TV o= 21.500 -  1/2 X ( 2.000 + 1.000 ) X 2.000 } X 2 = 37.000 Hm?




( THBETE L )

S1

17.500 X 9.000
1/2 X 5.000 x 3.333 +1/2 X ( 3.000 + 2.417) X
1/2 X 3.500 X 7.000
17500
5000 3500 9000

e o R P il @ D

1.167
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133.756681
133.757 1n?

| g . = _ _
/ i N-ls001000 3000 5] 3000 1000600] A N
s / \ \ | _2.0008 | J2 000% | "} 2
] ! — — ]
2417 583 | FH=501.279 Fe
3000 5500 | 5500 3500 o
-
( NZElrEfg )
2 ={( = X 4.700 2 X 90.000000 ° / 360°
+ 1/2  X( 4.700000 + 4.590573 )X 1.237313
+ 1/2 X ( 4.590573 + 3.951176 )X 0.763068
+( = X 7.050 2 x  10.108070 ° /360° -1/2 X 7.050 2 x sin 10.108070 ° )
+( X 1.000 2 x  59.705200 ° / 360° -1/2 X 1.000 2 x sin 59.705200 ° )} X2
+( X 11.450 2 x  40.373470 ° /360° -1/2 X 11.450 2 x sin 40.373470 ° ) }

AREPOLE e pidil

114,

i

=150

T pLosel 0

4580573

E = @-_ — ‘

I '{\
¥ 3951. 176

&

403700

_sL

56.664934
56.665 m?
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AL THE
XWE 18 1
il =N 20mil A + w L=
(m) Wrimfg | W AR RA WrimAd | Wi NLFH
NO.53+02.25 - - -
NO.53+02.5 0.25 - - - 4.2 2.10 0.5
NO.53+03.0 0.50 - - - 4.2 4.20 2.1
NO.53+03.0 66.6 51.4
NO.53+03.7 0.70 66.6 66.60 46.6 51.4 51.40 36.0
NO.53+04.2 0.50 66.9 66.75 33.4 53.4 52.40 26.2
NO.53+08.49 4.29 16.5 41.70 178.9 2.1 27.75 119.0
NO.53+11.08 2.59 2.0 9.25 24.0 - 1.05 2.7
NO.53+13.88 2.80 - 1.00 2.8 - - -
285.7 186.5
X E HELD WRELC
il =Y 20mil A 1.0mA i 1.0mPA = ~4.0mA i
(m) Wrimfg | W AR NEAR WrimAd | Wi NLFH
NO.53+02.25 - - -
NO.53+02.5 0.25 4.2 2.10 0.5 - - -
NO.53+03.0 0.50 4.2 4.20 2.1 - - -
NO.53+03.7 - 1.2 -
NO.53+04.2 0.50 1.2 1.20 0.6 - - -
NO.53+04.7 0.50 - 0.60 0.3 - - -
NO.53+03.7 - - 39.2
NO.53+04.2 0.50 - - - 39.4 39.30 19.7
NO.53+04.7 0.50 - - - 39.4 39.40 19.7
NO.53+08.49 3.79 - - - 6.2 22.80 86.4
NO.53+11.08 2.59 - - - 2.3 4.25 11.0
NO.53+13.88 2.80 - - - - 1.15 3.2
3.5 140.0
XWHE LB -
/SN 20m ] 5 4.0mLA 1 S
(m) Wrifg | PEEWrim i NFE WrimAg | Wi STFH
NO.53+03.7 - 20.4 -
NO.53+04.2 0.50 20.4 20.40 10.2 - - -
NO.53+08.49 4.29 4.2 12.30 52.8 - - -
NO.53+11.08 2.59 2.8 3.50 9.1 - - -
NO.53+13.88 2.80 0.1 1.45 4.1 - - -
76.2 -
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& R

Bt mE
A= 56.6 X 1.201850 ( 1: 15)

68.0
68.0 m2
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ERAGLME T
[T t= 0.700
7 RS I T S1= 130.318 2 TR D= 62.948 2
PNZE [ T S2= 56.665 m? BET 4R @ = 10.347 2
YOS V21N ® = 5.076 2
1. 27—k
v =( s1 - 82 + ® - 6 ) 0.700 = 55.247 p?
2. I
BT i Al = st - 2 o+ © - 0O = 78.924
A2 = st - @ - sb - = 61.370
Ml m&m A3 = ( 7.500 + 5.500 ) X 0.700 = 9.100
A2+ A3 = 70.470
A = Al + A2 + A3 = 149.394 2
oL 1=0.Tm 17.987m2/m X 0.700 = 12.591 p?
SN FIR AL B LY
3. @
Vo= Al + A2 = 140.294 Hpp?
PFART 4— v
Al sa = 5.500 X 7.000 -1/2 X 4.500 X 6.000 = 25.000 12
sb = 0.500 X 7.000 = 3.500 12
R osc = 5.000 X 5.000 -1/2 X 4.000 X 4.000 = 17.000 p?
sd = 0.500 X 5.000 = 2.500 p?
6.200 — 0.700 = 5.500 . 5.700 — 0.700 = 5.000
~ 6200 - 500 500 5700 i
) | T - ¥ T |8|
S 1=y
S S
|
(=2 o =1
o = = = s S|
S = =
o
‘O i L L
1700 400
| L]
. 450 170.
1. 27—k
VL. =  sa X 0.500 = 12.500
VR = s¢ X 0.500 = 8.500
.V =VL = 21.000 m°
2. A
AL =  sa X 2+ 0.500 X 1.000 0.70 X 7.00 = 55.400
AR =  s¢ X 2+ 0.500 X 1.000 + 0.70 X 5.00 = 38.000
. A =AL+AR = 93.400 1?2
3. BT
VL = 25.000 — 1/2 % ( 2.000 + 1.000 ) X 0.750 = 23.875
VR = 17.000 - /2 % ( 2.000 + 1.000 ) x 1.000 = 15.500
© V. = (VL+VR) X 2 = 78.750 Fpm?
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( TIEEWTEAE )

S1 = 15.000 X 9.000
- 1/2 X 1.800 X 1.800
- 1/2 X 1.750 X 3.500 = 130.317500
= 130.318 p?
15000
7500 7500
iR L P
|
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_i_ _____ _':“"_g \:.l _________ _lr_
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1800 .529 f"'"Tn_'__'ETE'U'_'__"ﬂ?‘W—'——-—.___‘_H“‘
( NZErmEfE )
S2 ={( = X 4.700 2 X 90.000000 ° / 360°
+ 1/2  X( 4.700000 + 4.590573 )X 1.237313
+ /2 X( 4.590573 + 3.951176 )X 0.763068
+( = X 7.050 2 x  10.108070 ° /360° -1/2 X 7.050 2 X sin 10.108070 ° )
+( = X 1.000 2 x  59.705200 ° /360° -1/2 X 1.000 2 x sin 59.705200 ° )} X2
+( =z X 11.450 2 x  40.373470 ° /360° —-1/2 X 11.450 2 x  sin 40.373470 ° )}
= 56.664934
= 56.665 p?
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KRBt TR
X [H R T8 B
s 20mifll 5 + W (=)
(m) Wrmmfs | CEWErm R S Wrm s | W R SEAH
NO.100+06.74 - - -
NO.100+06.5 0.24 2.5 1.25 0.3 3.7 1.85 0.4
NO.100+06.0 0.50 2.5 2.50 1.3 3.7 3.70 1.9
NO.100+06.0 35.6 6.5
NO.100+05.3 0.70 35.6 35.60 24.9 6.5 6.50 4.6
NO.100+04.8 0.50 45.8 40.70 20.4 13.3 9.90 5.0
NO.100+00.96 3.84 3.8 24.80 95.2 - 6.65 25.5
NO.99+19.93 1.03 - 1.90 2.0 - - -
144.1 37.4
X5 MELD WERERLC
| =Y 20mil A 1.0mATw 1.0mPL I ~4.0m=i
(m) Wrmmfs | CEErm R hVA Wrm s | WA ST
NO.100+06.74 - - -
NO.100+06.5 0.24 6.2 3.10 0.7 - - -
NO.100+06.0 0.50 6.2 6.20 3.1 - - -
NO.100+05.3 - 2.6 -
NO.100+04.8 0.50 2.6 2.60 1.3 - - -
NO.100+04.3 0.50 - 1.30 0.7 - - -
NO.100+05.3 - - 35.1
NO.100+04.8 0.50 - - - 38.0 36.55 18.3
NO.100+04.3 0.50 - - - 38.0 38.00 19.0
NO.100+01.3 3.00 - - - - 19.00 57.0
NO.100+00.96 0.34 - - - - - -
5.8 94.3
ESES WELB -
i 20mifll 5 4.0m2L ——
(m) Wrmfs | R S Wrim g | WA T FE
NO.100+05.3 - 22.8 -
NO.100+04.8 0.50 22.8 22.80 11.4
NO.100+01.3 3.50 22.8 22.80 79.8 - - -
NO.100+00.96 0.34 14.8 18.80 6.4 - - -
NO.99+19.93 1.03 - 7.40 7.6 - - -
105.2 -
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00§ 0001 % HCcOTF
692 8'€48 8y 9 x 06 x 051 HWrac
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HES L~FHTIE R
NMARMESRE

I & = M i I B 2 A8 A\ & §
o F M L-50 x 50 x 6 ke 426. 9 426.9 853. 8
g B B %—RbkrFL— b AKDB50x25x1.2 kg 599. 9 599. 9 1,199.8
M7 —Fuxmr Lt * H-200 x 200 = 5 5 10
T * " " 2 2 4
RiFa > ) — k| ock=18N/mm’ =250 m? 69. 3 69.3 138. 6
& B $5x150%150 | m? 71.9 71.9 143.8
+ o 5 28562cmx 48em | % 460 540 1,000
+ # £ m° 35. 2 41.6 76. 8
A | m° 66. 9 66.9 133.8
FEELZILRA | HAMYLEE =100 m? 154. 5 143.6 298. 1
OOy R - L=4. 000m & 8 8 16
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10-2-1 ERAIOAFHE

(1) F—X b2 TFL— b (AKD650 % 25 % 1. 2)

D WrE=Y EE
A =2 x g x 530 x 90 / 360° x 2

+ 2 x ;m x 7.650 x 13.608961° / 360° x 2 = 20.285 mZ/m
2) EfE
A = 20.285 x 2.275 = 46.148 m’
3) EE
W = 46.148 x 13.0 kg/m? = 599.9 kg

(2) D1 EH (L-50 x 50 x 6)

1) WES YR

N = 20285 x 1 & / 0.600 m = 34 XK
2) E=
W= ( 2275 + 055 ) x 34 =K
x 4.43 kg/m = 426.9 kg
BANE = 0500 x 1.118 (1 : 05 ofx) = 059 m
(3) M5 (2862cm x 48cm)
1) &i&
V = 18.3 m? x 0.500 = 9.2 m°
2) R#
N = 02 m= 0020 £%/m = 460 %
4) E#H+

V = 18.3 m? x 1.925 = 35.2 m®




®) fFavv1)—+ (t = 250 )
A = 15,865 x 4.050 + 3.636
DIIf Bf@E LFW{Favh)-+E
DIIf BrEm FHFmfF))-MEE
X OMFSMERARL Y

(6) €48 (5 x150x% 150)
A = 16.493 x 4.050 + 3.635
DIIf brE L¥ELWEHE
DIIf b THEMHKE
X MIOMHERRNRELY
(1) A1k o RIILREEEIZEBREDES)
V = 44.124 x 1.325 + 18.824
DIIf W@ LHEHI%K=E
DIIf BrmE T HIEHIZE
X EFER 0 (4.050 — 1.400)
X FHIERE . (1.400 — 0.500)
8) M7 —FIRI (H-200%x200x8x12)

3 = 5 X

T = 2 &

(9) EILZILERAT (£=100, HOfFEIL&4m)
A = 69.1 x 2.236

@M= (1 : 05 )

x 1.400

= 15.865 m2/m
3.636 m2/m

x 1.400

16.493 m2/m
= 3.635 m’/m

x 0.450

44.124 m?/m
18.824 m%/m

1.325 m
= 0.450 m

|
I

= 2.236

11 -4

69.3 m?’

71.9 m?

66.9 m°

154.5 m?




11-5

wRHC

g - =
¥ - = £%c
M €8l = FET "COF
6£Z 105=Hd
0 006=10 0 005=10
3 A7
@ =
=4 =X ____
d!;
_d.,
\
nem \
S
& £/
_ =7
P \\ g s
051 % 0G1 X § —
L
2 052=1
- I—h&rchifm
A 906 x 05— / 001G
(ER 28 #HeEam Z 1 X §Z % 05904
| B R VR I e
HOoE ¥
Qeh IR [ VchArk < )
qug g|=¢e
FTET - COTF
(o< 0 T (i) B B

¢l x8x00¢ % 00¢-H
THEL—LH

00ls



11 -6

0°005=10

0015

J-Ac4dY—%

w o Gg6'lL = ¢/l x (0000 + 098°¢) = 1 FET -
W 0050 = = COF -
w G/ize = /1l x (0050 + 050%) = 1 H2fc -
w gz = 7/l x (0080 + 050F%) = 7 11724 Y—%-
¥ 8 = (fw) ¢ x ¥ ¥ = N S 4 n Ol -
001=1
- e
oer 18 ~ - A=
= 7 TS LI HD 7 ¥4k 06 _ e
L\\\\ _ 07005=10
%Wwﬁ\\. = | BE RN | Jﬁ 8 p
=
ot N i g
HH (1
\.F.
= = w0
w5 QAR B
-
21 X8 X 002 X 002-H _ | 0341 Py
THEL—L8 | _ - - _—
= = == 2= S = |
[=1] — =
8 e Q L~ / =
-—
.. \\\\\\\\ 03 /// 0701
\..1
P o | ST 909X 05-1
- 0521 048 | 004 (R 2 B) BT
. R (2= T
P 051 X051 xG P
g % 3
2'1X52% 099 ONV

wooD ‘EY6=1 (HEN UL~y H &I~ TERE

(2] 40 0 i B



Jy)LiEE

ERARO AR

S EIIIIIITS
QRIS
429,

&S
S

AV AV AV AV AV

L=

A=69. 1

SISO XY

00005 %0%%
SRR

@
(K
.’

m? (C A D3KiE)

69. 1

ELZ IR EE =

11 -7



RRAnOrsE

(1) F—X b2 TFL— b (AKD650 % 25 % 1. 2)

1) BrmEY miE
A = 2 X 7 X
+ 2 x 7 X

2) ER
A = 20.28 X

3 EE
W = 46.148

X

(2) D1 EH (L-50 x 50 x 6)

1) WES YR
N = 20.285 x

2) EE
w = ( 2275
x 4.43 kg/m

BANEKE = 0.500

(3) £®d > (2562cm x 48cm)

1) &%
V = 21.6 m? x

2) R#
N = 108 m’

4) E&HL

V = 21.6 m? x

5.300 x 90°
7. 650

2.275

13.0 kg/m?

1 X / 0.600

+ 0.559 ) «x
x 1.118

0. 500

=~ 0.020 %£%/m®
1.925

X 13.608961°

/ 360° x 2

34

(1

/ 360° X
*
0.5 DOHR=EK)

2

20.285 m?/m

46. 148 m?

999.9 kg

34 K

426.9 kg

0.559 m

10.8 m°

540 &

41.6 m’
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®) fFavv1)—+ (t = 250 )
A = 15,865 x 4.050 + 3.636
DIIs B LFW{Favh)-+E
DIIs Brm FHmfFV))-MEE
X OMFSMERARL Y

(6) €48 (5 x150x% 150)
A = 16.493 x 4.050 + 3.635
DIIs MrE L¥ELMEHE
DIIs @ THEMHE
X MIOMHERRNRELY
(1) A1k o RIILREEEIZEBREDES)
V = 44.124 x 1.325 + 18.824
DIIs ¥rEm LHEHI%K=E
DIIs BrmEm T HIEHIZE
X EFER 0 (4.050 — 1.400)
X FHIERE . (1.400 — 0.500)
8) M7 —FIRI (H-200%x200x8x12)

3 = 5 X

T = 2 &

(9) EILZILERAT (£=100, HOfFEIL&4m)
A = 0642 x 2.236

@M= (1 : 05 )

x 1.400

= 15.865 m2/m
3.636 m2/m

x 1.400

16.493 m2/m
= 3.635 m’/m

x 0.450

44.124 m?/m
18.824 m%/m

1.325 m
= 0.450 m

|
I

= 2.236
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71.9 m?

66.9 m°

143.6 m?’
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13-1. {&HE L

il Bl B = i &
ERTE:S] m2 87.9
L m2 87.9
FABET. m2 87.9
A SRR AT T WA E5em m2 87.9|91 tiEm 4
2y 7RV T D25 SD345 L=3.5m/A EN 26
ZER L FRPEUEZIERT 967 X 967 X 40 E-S 26
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I

iz AR [
1| ZAF | A=V (5.95%(5.95-5.8)%(5.95-1.3)%(5.95-4.8)) 2.18 m?
2 | =ZA® | A=V (6.25%(6.25-4.8)%(6.25-4.1)%(6.25-3.6)) 7.19 m?
3| ZAR | A=V @T4.T-4.1)%(4.7-3.6)%(4.7-1.7)) 3.05 m?
4 | = | A=V (5.45%(5.45-5)%(5.45-5)%(5.45-0.9)) 2.24 m?
5 | =B | A=V (7.55%(7.55-6.1)%(7.55-5)(7.55-4)) 9.96 m?
6 | = | A=V (8.9%(8.9-6.7)%(8.9-5)*(8.9-6.1)) 14.62 m?
7| =M | A=V (8.5%(8.5-7.3)%(8.5-6.7)%(8.5-3)) 10.05 m?
8 | = | A=V (7.8%(7.8-7.5)%(7.8-7.3)%(7.8-0.8)) 2.86 m’
9 | =MAF | A=V (8.1%(8.1-7.5)%(8.1-1.9)%(8.1-6.8)) 6.26 m?
10 | =A% | A= V(7.9%(7.9-6.8)%(7.9-3)%(7.9-6)) 8.99 m?
11 | =4 | A=V (6.55%(6.55-6)%(6.55-1.5)%(6.55-5.6)) 4.16 m?
12 | ZA | A=V (6.25%(6.25-3.4)%(6.25-5.6)%(6.25-3.5)) 5.64 m?
13 =/ | A=V (4.1%(4.1-3.6)%(4.1-3.5)%(4.1-1.1)) 1.92 m?
14 | =A% | A=V (4.55%(4.55-3.4)%(4.55-2.9)%(4.55-2.8)) 3.89 m®
15 | =A% | A=V (5.5%(5.5-4.7)%(5.5-3.4)%(5.5-2.9)) 4.90 m?

&t 87.91 m?
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13-2. Ul tmsR + THESR

13 -3

5 I wie | A || & ow

8% 5 & DZ?;?&%;@%?&) m 35| 26 91.0
Hl L & HIFLEE ¢ 65

Ny IRTRERY IV m 3.36| 26 87.4
T NEAVRIAY) o ck=24"/m? m3 0.016 | 26 0.4
PR ANC L) D25 & 1] 26 26
TE A& MOy Sih) PL-9 X 150 X 150 # 1| 26 26
AN—H—(Av3F 4h) 1# 2| 26 52
TNIFpy T a—MIAD & 1] 26 26
T — (Ay¥ ) D25 & 1| 26 26
ZHEMRT (1967 X 967 & 1] 26 26

AK TR BAR Je ONETHRFE X 2 1R



BEIEA T (v 7RV IR L YO &

Ty 7RV RV R D25 (SD345FH 2 i - A 5%-ih)
L:

Al AL & (HIFLEE ¢ 65)

L= 3.5m—0.14m

IIh (RAPINY) ¢ ck=24"""
HIFLEE _,  MILE —
V= 1/4X 7 X0.065°2X3.36m X (1+K)
I CK:fIEMRER (K=0.4)

3 W (L —k PL-9X 150 X 150)

F>h(D25H)
N=

ZER T
N:

3.5 m

3.36 m

0.016 m3
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13-3. B L (BER=E) EEitE

& il #BBl BT &= (=
B m2 80.4
ILHEE TR m2 80.4
FART. m2 80.4
REAE FEAAWRAT T RAFIE3em m2 80.4| 9 T-ykHi 42
w2y 7RV T D19 SD345 L=4.5m/A EN 36
ZHEHRT FRP#USZ R 967 X 967 X 40 %= 36
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BETHEHES

HEAEEM A =3cm)BELEH X

£ 5 (RN - 34D 1z B EiE
HE 4 B+ (t=3cm) SR L& m?2 80.4
SEtEE m? 80.4

HEAEE MR AT (£=3cm)

Hel Hel
Eoy Eoy
© @
2.695 8.931 0.i220
%,
(0]
/ ® g
~ 2‘\%
2.695
DL=515. 000
2700 l 8930 l 2520
Bk & il Sk EEHE m
1 6.070 2.421 14.732
2 6.070 2.427 14.732
3 10. 512 4. 645 48.828
4 10.512 3.062 32.188
5 6. 940 2.896 20.098
6 5. 471 0.220 1.204
1 7.059 1.413 9.974
8 7. 059 2.036 14.372
9 6. 294 0.748 4,708
fEEmE m 160. 836
mE m 80.418




HHREAL(EXE)HESRFHE

4 i kg - AE5 HfL &t e

%N 36 ik Pks

SEEE AT Eﬁﬁé? 9, SD345) m 162. 0
k g 365 2. 25kg/m

HIlFL & (R FLEE ¢ 65) m 157.0

757 Mt BAYFIANY | g ck=24N/mn’ m’ 0.7

F v b D19 {® 36

KER 150 X 150 X 9 % 36

AN — D19H 1 72

Ty yy— & 36

Xrv/ 7L & 36

=R & 36

T — 1 72

it G & 36

25 W=3. Om 79m° 220.3

el AN e QG 21’4 [=] 3

= JER 967 X 967 X 40 % 36
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PR A TG R

(1) &E AT (D19 SD345  HIFLEE ¢ 65 2. 25kg/m)

n

Sk LB & S,
BRI T — 2
§ § |t | aat | as |2
B HIF 5 AR [ & s | LR |
(m) | & (m (m) )
1B H 1~9 9 4.5 40.5 | 39.24 | -
2BtH 1~9 9 4.5 40.5 | 39.24 | 1
3EtH 1~9 9 4.5 40.5 | 39.24 | 2
4BtH 1~9 9 4.5 40.5 | 39.24 | 3
At 36 162.0 | 157.0 | —
KHIFLE - AR £-0. 14m
L = =
MIARY Y DM E 4.5 (m)
W= 162.0 X 2.25 =
A TR B & 2.25 (kg/m)
(2) HIfLE (¢65mm) : Jii LI
L = =
XIARY Y OHIFLE - 4.36  (m)
FHIFLEE - 0.065 (m)

(B) TEAM (EAYFIAZ o ck=24N/mn’)

vV =
MIEAM=1/4X 7 X (HIHLE) 2XHIHLE X 1. 4 (HIEAED
A FRA £ (m) 4.5
HIFLE (m) 4. 36
A (R) 36
IR 7= 0 FEAM (m®) 0. 020
ARFEAM (m®) 0. 72

13 -8

36 (A)

162.0 (m)

364.5 (kg)

157.0 (m)

0.7 (m°



(6)  J > ~(D19H)
n = 36 X 1.0 = 36 (ff)

(5)  XJEM (150X 150X9)

n = 36 X 1.0 = 36 (K0
(6) AAN—H—
n = 36 X 2.0 = 72 (f#)
MIAY Y D AAL—H— 2.0  (fH/4A)
(7)) Tviy—
n = 36 X 1.0 = 36 (fi#)

®) Fvv7 (rrIfl)

n = 36 X 1.0 = 36 (fifl)
9) v—=x
n = 36 X 1.0 = 36 (fi#)
(10) vy 7 TF—
n = 36 X 2.0 = 72 (&)
a5 (m) 4.5
IARBHZ0 7T —E/2m)| 2
A (A) 36
KT~ 7 F — (#) 72

(11 ¥ v v 7

(12) BT (W=3.0m)

S = 220.3  (Zzn’)
NKEEERX, WAL 5mToEY T o 45,
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(13) A=V I~ —rBax

n = = 3 (=)

(14) =JE#
n = = 36 (%)

S ERRE AR 3
B Bikk - Hm] AL Gl fil s
= EMR 967 X 967 X 40 3 36




BB T HE

PAGE
il J=t 5T (W=3. 0m) H
BEOBE | Mo %’a%ﬁﬁi’él & fE BEOBE | rmfs %’aliﬁ’ﬁﬁfél = fH
Hr ol 0. 000 11.4
OWrim 4,200 11.4 11. 40 47.9
QWi 8. 900 14. 4 12. 90 114. 8
FH ML 5743 4. 000 14. 4 14. 40 57. 6
MR, AL 50miEH L CEREBET 5,
KGR ERHT, ARSI T 5,
OR: S=1:200

520 0 Allam N
SHEAT (O SR FT) D19(SD345)
EIFLE ¢ 65mm  L=4.5m/&
510 N=48% @1.5nRARE
500
520
sg
SN %kiﬁg#%ifliiﬁi;'; Tif;l:l:li)i D19 (SD345)
BIFL{E ¢ 65mm  L=4.5m/&
N=48%  @1. 5mFsikR
510
500
EH 17. 100 220. 3 H
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14.7ay 7T

)=V

& W MO E<¥va il & s AR & &
WA=k #235cm of 3.8 8.0 11.8
R 70 —h o ck=18N/mm’[ ;3 0.2 0.2 0.4
fRIASD =z 7Y —] o ck=18N/mm” . 0.8 1.8 2.6
HADIL 7Y —h o ck=18N/mm?| ;3 0.4 1.3 1.7
THADM m® 10 3.1 4.1
KK E AT (VP ¢ 50) m 1.9 3.7 5.6
Jex AR ot _ 4.7 4.7
AT — P40

% O =< iva e A A =il &%

%%I:!‘/7U—l\ o Ck:18N/mm2 1’1’13 0.4 0.5 0.9
FERE T i 1.2 15 2.7
FERE T AR H m? 5.6 10.9 16.5
JERETHIRL m® 1.9 95 4.4
FLRE m? 99 96 4.8




U-1.a>7V—r7ay 7 EE L= 3.10 m

e s

3100

502727

501,187 501187

300

l.aryzV—+7ay 7 BLAE
O =R/ i1k

A=1/2 X (21.240m2 + 3.350m2 )/ 10.0 X 3.1m

OEIADH (HAZ 7 v+ T RC-40)
V =1/2 X (6.306m3 + 0.000m3 ) / 10.0 X 3.1m

OEA a7 Y — b (18-8-40)
V=1/2 X (2.260m3 + 0.416m3 ) / 10.0 X 3.1m

OfRiA=z > 7 U — b (18-8-40)
V=1/2 X (4.673m3 + 0.737m3 ) / 10.0 X 3.1m

OhPprENAT (VP H50) ---2m2 1T 1 HpT
V =3.811m2 / 2.0 m2 X 0.949m CKEHIE)

1
i

2
==
=i
=T
—|
]

3. 811m2

0.977m3

0.415m3

0. 839m3

= 1.898m

X [ LR
)
® 3.100m
YL= 3. 100m
= 3.8m2
= 1.0m3
= 0.4m3
= 0.8m3
= 1.9m




2. a7V — 7y 7 B

Oz 7 ) — - (18-8-40BB)
V=1/2 X (1.140m3 + 1.140m3 ) / 10.0 X 3.1m

O
V=1/2 X (4.000m3 + 4.000m3 ) / 10.0 X 3.1m

OFERER (RC-40, t=20cm)
A=1/2 X (7.200m2 + 7.200m2 )/ 10.0 X 3.1m

ORAE D
V=1/2 X (26.100m3 + 10.100m3 ) / 10.0 X 3.1m

OHRL(REL)
V= 1/2 X (6.900m3 + 5.200m3 ) / 10.0 X 3.1m

R 7 ) — |

ORg=z 7 Y — b (18-12-20BB)
V=1/2 X (0.643m3 + 0.643m3 ) / 10.0 X 3.1m

OB (1:0.5 — £tk 1.118)
A=1/2 X (1.077m2 + 1.077m2 )/ 10.0 X 3.1m

0. 3563m3

1. 240m2

2.232m2

5.611m3

1. 876m3

0. 199m3

0. 334m2

0. 4m3

1. 2m2

2.2m2

5. 6m3

1. 9m3

0. 2m3

0. 3m2
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HA R PEEE— T o v U TEPERE H = 1.900 m

e AR IER)
PERERE Tk
N1 1:0.5
N2 1:0.4
H 1. 900m
h 0. 300m
W 0. 949m
Wod—

S *mkﬁww";) = Wa 0. 350m
/[ mroun Wb 0. 100m
We 0. 300m
g \_Eﬁf@h}{m%” =8 t1 0. 100m

= Bhpanhy—F

o ck=T8N/mm?
B N MRAmE SL1 2. 124m
= L [

: & BRtELEHL, G, SL2 2.012m

> Z AN R &S
E@gavs—p \ 7N gggigfﬁggﬁaw SL3 2. 180m
craTE \ e SL4 2. 340m

Bt
RC-40
LaryzV—r7uy 7 EIARK
o7 v v 7 kEHE
A =2.124 X 10.0m = 21.240m2/10m

OHEIADM (427 T v % T RC-40)
A=(H?”immﬁw4ﬂmmmhxmu

6. 306m3/10m

KEADM BRI R R A (BERERTTE KL 2 W IEE) KV BT %,

OEA=z 7 ) — b (18-8-40)
V=1(2180 +2.340 ) X (0.100 /2 ) X 10.0m

2.260m3/10m

OfRiA =7 U — b (18-8-40)
V = 21.240 X 2.200 / 10.0m 4.673m3/10m
WIELAEE AR TEMEREE] Lo, 7oy 7 BEI50kg/ERMORA =7 U — F32. 2m3/10m2 & T 5,




2. a7 ) — 7wy s i

HI

t1

M
(BEY 5 v v 5 RE-40)

B1
520

Q=7 ) — |k (18-8-40BB)

V =

R

{ 0.520 X 0.300 = ( 1/2 X 0.420 X 0.200 ) }

A= (0.300 + 0.100 ) X 10.0m

ORRERT (RC-40, t=20cm)
A= (0.520 +0.100 X 2 ) X 10.0m

ORI Y
V=261 X 10.0m

OHEL (REL)
V =0.69 X 10.0m

1900

PR

A=2.613m

10m24 Y

PERERE 1A
Bl 0. 520m
B2 0. 100m
H1 0. 300m
H2 0. 100m
tl 0. 200m

X 10. Om

1. 140m3/10m

4. 000m2/10m

7.200m2/10m

= 26.100m3/10m

= 6.900m3/10m

1900

BR

14 -5
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3. Rz 7 J— b

10m¥ V)
PERERE T 1E

W 0. 949m

tl 0. 100m

ORum= 7 ) — b (18-12-20BB)
V = 0.0643 X 10.0m

0. 643m3/10m

ORI (1:0.4 — #k 1.077)
A= (0.100 X 1.077 ) X 10.0m

1.077m2/10m

K7 U— bk

A =0.1 (a/2+b+tc) ¢ (14N, " 2)

0.1X (0.35/2 + 0.10 + 0.30) X1.118
0.0643 nf/m




HA R PEEE— T o v U TEPERE H = 0.300 m

gt ([ 10m4 Y
PREERETIL
N1 1:0.5
N2 1:0.4
H 0. 300m
h 0. 300m
W 0. 949m
Wa 0. 350m
Wb 0. 100m
We 0. 300m
7I —
pRErdk t1 0. 100m
§F%%§ _
- ; ./ g RELELER, 55, SL1 0. 335m
%‘ ANEEEL ST SL2 0. 224m
e — KELAH HIHEIITH A
Aazsy—t./ N EEasnitace. SL3 0. 392m
o ck=18N/mm \
" SL4 0. 440m
Eﬁﬁﬁ
RC-40

LaryzV—brrmy 7 ELARK

o7 vy U FEmE
A = 0.335 X 10.0m

3. 350m2/10m

OHEIADM (427 T v % T RC-40)

0. 000m3/10m

FLAD MR I B N (BEEERTE KL 2 WEE) KV EHT 2,

OEA=z 7 ) — b (18-8-40)
= (0.392 +0.440 ) X (0.100 / 2 ) X 10.0m

0.416m3/10m

OliA=z > 7 Y — b (18-8-40)
V =3.350 X 2.200 / 10.0m

0. 737m3/10m

MIEEZEE TATEEREEE] L, 7oy 7 BEIS0kg/ERMGORAZ 7 Y — 132, 2m3/10m2 & 35,




2. a7 ) — 7wy s i

tl
200 300

EBEH
(BET 5w v RE-40)

Bl
100, 520 _jod

Q=7 ) — |k (18-8-40BB)
V= {052 X 0.300 - ( 1/2 X 0.420 X 0.200 ) } X 10.0m

OB
A= (0.300 + 0.100 ) X 10.0m

ORRERT (RC-40, t=20cm)
A= (0.520 +0.100 X 2 ) X 10.0m

ORI Y
V =1.01 X 10.0m

OHEL (REL)
V = 0.52X 10.0m

10m24 Y
PEBERE A
Bl 0. 520m
B2 0. 100m
H1 0. 300m
H2 0. 100m
tl 0. 200m

1. 140m3/10m

4. 000m2/10m

7.200m2/10m

10. 100m3/10m

= 5.200m3/10m

0. 3045 0.2187

300

R#E  A=1.015m

300

HERE A=0.523m

14 -8



3. K>/

V—+

ORum= 7 ) — b (18-12-20BB)

V=20

oM
A=

.0643 X 10. Om

(1:0.4 — #itb

( 0.100 X 1.077 )

X 10. Om

1.077)

10m¥ V)
PERERE T 1E

W 0. 949m

tl 0. 100m

0. 643m3/10m

1.077m2/10m

14 -9
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14-2. a7V —hr7Tay 7 EE L= 3.40 m
=X il
@ 3400 @
X [#] LR
- 502. 156
~ )
® 3. 400m
8% 1= 3. 400m
_ 498.810 468, 810
3400
l.aryrz)—r7ay 7 BLARE
ST vy HEmig
A=1/2 X (43.600m2 + 3.350m2 ) / 10.0 X 3.4m
= 7.982m2 = 8. 0m2
OEIADK (427 F v ¥ T RC-40)
V=1/2 X (18.214m3 + 0.000m3 ) / 10.0 X 3.4m
= 3.096m3 = 3. 1m3
OHEA =7 Y — b (18-8-40)
V=1/2 X (6.719m3 + 0.850m3 ) / 10.0 X 3.4m
= 1.287m3 = 1.3m3
OffiA=z > 7 Y — b (18-8-40)
V=1/2 %X (9.592m3 + 0.737m3 ) / 10.0 X 3.4m
= 1. 756m3 = 1.8m3
Ok ANA T (VP 50) ---2m2 12 1 BT
V =7.982m2 / 2.0 m2 X 0.916m(KuiE) = 3.664m =3.7m

OHEEREYS
A=1/2x (3.60 + 2.00) X 1.51 Xx1.118 = 4. 727 = 4. 7T#nt



2. a7V — 7y 7 B

Oz 7 ) — - (18-8-40BB)
V=1/2 X (1.363m3 + 1.363m3 ) / 10.0 X 3.4m

= 0.463m3
OB
A=1/2 X ( 4.500m2 + 4.500m2 ) / 10.0 X 3.4m
= 1.530m2
OEHER (RC-40, t=20cm)
A=1/2 X ( 7.500m2 + 7.500m2 ) / 10.0 X 3.4m
= 2.550m2
OFRYE Y
V=1/2 X (53.000m3 + 11.300m3 ) / 10.0 X 3.4m
= 10.931m3
OHEL (BEL)
V=1/2 X (9.100m3 + 5.700m3 ) / 10.0 X 3.4m
= 2.516m3
3. Kig=ar 7 Y — b
ORMg=a > 27 U — b (18-12-208B)
V=1/2 X (0.699m3 + 0.699m3 ) / 10.0 X 3.4m
= 0.238m3

ORI (1:0.5 — #l 1.118)
A=1/2 X (1.07Tm2 + 1.077Tm2 ) / 10.0 X 3.4m

0. 366m2

0. 5m3

1. 5m2

2. 6m2

= 10. 9m3

2. 5m3

0. 2m3

0. 4m2
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HA R PEEE— T o v U TEPERE H =3.900 m
emm- - -O 10m4 v
PREERE TR
N1 1:0.5
N2 1:0. 4
4 i 3.900m
)'.'%I
A h 0. 300m
P B W 0.916m
- = Wa 0. 350m
3 a’:#:wa-{— [ Wb O ].501‘[1
. o ck=1EN/md WC O, 300m
s e tl 0. 100m
. T
g /177 J BReays Y=t
= e SL1 4. 360m
N SL2 4. 249m
|5 o SL4 4. 520m
R =
: & REEES TR0, B8
yd FNEEE RS
gL y—r L RESHIREICIIRRE
o k=188, \ EWMANHHET S L.
EiEH

LaryzV—brrmy 7 ELARK

O7m vy o FEEE
A = 4.360 X 10.0m

43.600m2/10m

OHEIADM (427 T v % T RC-40)
A=(H?”immﬁw4ﬂmmmhxmu

18. 214m3/10m

KEADM BRI R R A (BERERTTE KL 2 W IEE) KV BT %,

OEA=z 7 ) — b (18-8-40)
V= (4439 + 4520 ) X (0.150 /2 ) X 10.0m

6. 719m3/10m

OMiA =7 U — b (18-8-40)
V = 43.600 X 2.200 / 10.0m 9.592m3/10m
KIE L EE EATHEEERLLE] Lo, 7oy 7 BRI50kg/ERFEOIA T2 U — M2, 2m3/10m2 & 5,
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2. a7 ) — 7wy s i

T
[ (O F‘

(BEY T wiv T R-40)

B1
0 550 [i]

Q=7 ) — |k (18-8-40BB)
V= {055 X 0.350 = ( 1/2 X 0.450 X 0.250 ) }

OB
A= (0.350 + 0.100 ) X 10.0m

ORRERT (RC-40, t=20cm)
A= (0.550 +0.100 X 2 ) X 10.0m

ORI Y
V =530 X 10.0m

OHEL (REL)
V =0.91 X 10.0m

3900

RYE  A=5.304m

X 10. Om

10m24 Y

PERERE 1A
Bl 0. 550m
B2 0. 100m
H1 0. 350m
H2 0. 100m
tl 0. 200m

=5

1. 363m3/10m

4.500m2/10m

7.500m2/10m

3. 000m3/10m

9. 100m3/10m

3900
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3. Rz 7 J— b

10m¥ V)
PERERE T 1E

W 0.916m

tl 0. 100m

ORum= 7 ) — b (18-12-20BB)
V = 0.0699 X 10.0m

0. 699m3/10m

ORI (1:0.4 — #k 1.077)
A= (0.100 X 1.077 ) X 10.0m

1.077m2/10m

K7 U— bk

A =0.1 (a/2+b+tc) ¢ (14N, " 2)

0.1X (0.35/2 + 0.15 + 0.30) X1.118
0.0699 nf/m
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HA R PEEE— T o v U TEPERE H = 0.300 m

(ngm\ﬁ“ o @ IOm% 14}
PREERE TR

N1 1:0.5
N2 1:0.4
H 0. 300m
h 0. 300m
W 0.916m
Wa 0. 350m
Wh 0. 150m
We 0. 300m
t1 0. 100m
- SL1 0. 335m
5 SL2 0. 224m

= (18-12-20)
RELELIIMIL, G, SL3 0. 526m
H@aLHY—F . . ANEEET SRR SL4 0. 607m

o ck=18N/mm? K S kA H DSBS ICEREES
\ N EEROHHET oL,
1
RC-40

LaryzV—brrmy 7 ELARK

O7m vy o FEEE
A =0.335 X 10.0m

3. 350m2/10m

OHEIADM (427 T v % T RC-40)

0. 000m3/10m

KEADM BRI R R A (BERERTTE KL 2 W IEE) KV BT %,

OEA=z 7 ) — b (18-8-40)
V=1(0.526+0.607) X (0.150 /2 ) X 10.0m

0. 850m3/10m

Olia =7 Y — |k (18-8-40)
V =3.350 X 2.200 / 10.0m 0. 737m3/10m
KIE L EE EATHEEERLLE] Lo, 7oy 7 BRI50kg/ERFEOIA T2 U — M2, 2m3/10m2 & 5,



2. a7 ) — 7wy s i

H1

tl
200 __ 350

FHEH
(BEY S v v 3 /R6-40)

B
jod. 550 _jod

Q=7 ) — |k (18-8-40BB)
V= {055 X 0.350 - ( 1/2 X 0.450 X 0.250 ) } X 10.0m

OB
A= (0.350 + 0.100 ) X 10.0m

ORRERT (RC-40, t=20cm)
A= (0.550 +0.100 X 2 ) X 10.0m

ORI Y
V=113 X 10.0m

OHEL (REL)
V = 0.57 X 10.0m

300

KiE  A=1.130nm
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10m24 Y
PEBERE A
Bl 0. 550m
B2 0. 100m
H1 0. 350m
H2 0. 100m
tl 0. 200m

1. 363m3/10m

4.500m2/10m

7.500m2/10m

= 11.300m3/10m

= 5. 700m3/10m

0.3343 0.2398

300




R 7 Y — |

10m¥ V)
PERERE T 1E

W 0.916m

tl 0. 100m

ORum= 7 ) — b (18-12-20BB)
V = 0.0699 X 10.0m

ORI (1:0.4 — #k 1.077)
A= (0.100 X 1.077 ) X 10.0m

0. 699m3/10m

1.077m2/10m
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15. REI7 v vy 7L

15 -1

& B % &
7wy 7 FEIE R m 92.74
AT 1000 X 2000 33
B#EI 1000 X 1000 4

Ty s E &

CHl 500 X 2000 2
DA 500 X 1000 5
k=227 U — b 18-8-40 m® 41. 26
BiAar 7 — | 18-8-40 m? 60. 37
E gipe ot 9.45
P Y — b 18-8-40 m® 5. 92
R o 9.45
NS =z —h 18-8-40 m® 0.41
W UBA A 300X 300 X t=10mm ot 5.94
KigE A AT VP ¢ 75 m 92. 40
EIARA RC-40 m’ 19. 30
fiifi B Hubt £=20mm ot 20. 35
ka2 Y —F 18-8-40 m® 0.21
Hifa 7V — b 18-8-40 m® 3.43
FEAE P ot 4. 62
AT FEEA RC-40 ot 0. 00
ettt H bt t=20mm of 0. 50
SR kg 0. 00




REZ7 vy 7 BIEBFER

{HI A =R BE | EHRE| EE [k k=
0. 500 0. 559
5. 202 9.323]  48. 498
8. 805 9. 844
8. 805 9. 844
9. 882 44771 44.242
8. 873 9. 920
B 13. 800 92. 740
B = 5 EI bR g
B X SR =X BE ER [k k=
0. 000 0.000] 1/2 0. 000 0. 000
At 0. 000 0. 00
7y JiEmEE Al = 92.740 nf
(mfE)
Rk L= 13. 800
HEEER L= 13. 800




15-1. REEH Ty 7B B EE ()

BH&ME

Tay/BEEAL 92. 740m2

Tuy/EEA2) 83.291m2

EE 13.800m R )~ MEFE(A3) 9, 449m?2

1. 7uy/EiEA2) A= 7Y — hE(VLD) BRiA2/7)-ME V1= 41.261m3
B g4 [0 mEESEHA2) AR/ H MRiAES B VD

AT 334 2.236m2 73.788m2 1.113m3 36.729m3

B A 1.118m2 4,472m2 0.546m3 2.184m3

CHl 2{H 1.118m2 2.236m2 0.529m3 1.058m3

DT 5{# 0.559m2 2.795m2 0.258m3 1.290m3

k& E 4448 83.291m2 41.261m3

2. HiAa 7Y — v E(V2) - BRI TE(A4) EHAx 7)-+ & v2= 60. 371m3

ERIRmEE Ad= 9.449m?2

Kuihg B® = K¥hg B + KC/ SR/ Z450.020m = 1.420m

( 1.400m)
V2= (R¥itg B'—7 a2y /¥R 0.700m) X (Zuy/iEHEfE (Al) /#HE#1.118+0.065m X #E&)
(11.420m) (92.740m2 ) (13.800m )
= A — e — ELF
A4 T ay/FEEAEAL - 7 ey 7 EEA2) = BRI  XaiEb 200
(92.740m2) (83.291m2) oL s— L 700 S—Lavhy—t
KC S5V s \ ‘ } |
y P jﬁ EARE
[t/ SN BRAAVHY—F
</ A B LSS
S T /’\ kiEENA T
HDS [ BRavsy—t
3. a7V —hE(V3) B 7)—E V3= 5.916m3
FREE = oY) — MR REAE(AS) R o) — NURE R AS= 9.449m2

V3= FH#E=r 7Y —hEEA3), FHREE1.118 X 7 2y Z1i§0.700m
(9.449m2)

Ab= FRFE= 7V —NEFE(AS) - - <K >
(9.449m?2)



4. —N o J)—hE(V4) v—jaryy—rg V4= 0.414m3
V4= T—)Larg)—hEX—ar7)—hE ) X iEE
(0.300m ) (0.100m ) (13.800m )
5.9 1E#4 (300mmx300mm=0.09m?2 n= 664
OK$koT - A-CRUZ2E P /8, B-DEUE1 &R/ &) 5.940m2
n= 2SO 0D —RAK FERMERN2) nl= 798¢ n2=13#
(nl= 79%%) (n2= 13#%)
6. LS L= 92. 400m
L= 66fAr (WHFIEMERES) X 1EBFTY YD (7K (RiGEB)
(1.400m)
7. Ei Vb EARE R Vo= 19.297m3
HLGAREE BZEE 0.300m HiAalE (CF5)
BIAMG TH5OME 0.300m 0.300m PEpREh’ = 1.250m

VE= EIAEBD X { (Z ey /EmiEALD,/ #E31.118) — i X JERE 0 )+ — a7 —R b))

(0.300m) (92.740m2)

8. A6

A6= H HIFHIE R X R mIEB X i AT
(7.270m) (1.400m)

9. k&= 7Y —hE(VE)

V6= ELAREE FIONE X IEAz 7Y —hg X iEE

(0.300m) (0.050m)

(13.800m) (1.250m) (0.100m)

%5 B #ipt A6= 20. 355m2

{epie B M4 3% B & T

(2D o

1kkar7)—h& V6= 0.207m3

1EAk=a 70—
(13.800m) 0.050m
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[OF: %5515 R A8 1:0.00

400
100
/0. /2
[de)
= . b ] o
B
hig 3 /A Rl (WD) vl= 3.429m3
vl= {FimaECO+FEEC2), /2 } X FEEB) X It B = 1.600m
— 0.065m X (F:A#MRE (B) —0.500m) X FER: t1= 0.200m
t2= 0.200m
Sekas 7Y — MNARI e () al= 4.623m2
al= (ATEE 1)+ EE(t2)—0.065m) X L&
I EBRTEG2) v2= 0.000m3 0.000m2
vo= FLEFEEIEGB) X A EG3) X L&
B’ = 1.800m t3= 0.000m

x a2 a2= 0.497m2
e I HibA 3% 1 AT 4R
a2= ((FERERTTHIR (t1) + BT /R (t2)) /2 X JEREE (B) 26& T
— 0.065m X (HHHE (B) —0.500m) ) X EATEk
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BaEENIETEFR

TAE - AER - HEB i B L &= =
A EENIET =X 1
A B T =X 1
Ar— 7 VKR, 3X7 18¢. 3.2¢ X50X50 m 31. 4
o R S H-200 X 100 X 5. 5 X 8-3350 N 9
Ui AR SAE OKFE#E)  [H=200 X 200 X 8 X 12-3350 5 3
Ui AR S (BB [H=200 X 200 X 8 X 12-3350 5 1
[ b PR A 4. 5t X 65X 680-2, 4.5t X65x980-1| fHAT 11
i B {51 T 1

16 -1



HREEIET 5 3 B =
HEME B N g0y A& M =
%A DR T
TEA B REM T
e s {7 il
o — 7 VHERK L= 17.4 14.0 = 3.4 m 3.4 m
(3XT7 18¢ . 3.2 ¢ X50X50)
o =X
L= 2.7 2.7 4+ 2.95 4+ 3.0 X 3
= 174 m
=il
L2= 2.5 3.0 X 3 + 25 = 14.0 m
=X ]| =X ]
A SR R N= 5 4 = 9 K 9 K
(H-200 X 100 X 5. 5 X 8-3350)
i il SN ]|
Ui AR SRR (KEER) N= 1 2 = 3 % 3 I
(H-200 X 200 X 8 X 12-3350)
A AR]
Ui AR SRR (AIBLER) N= 1 = 1 % 1 A
(H-200 X 200 X 8 X 12-3350)
=3 =N ]
IR R R N= 6 5 = 11 5T 11 f&T
(4.5t X 65X 680-2.
4.5t X 65%X980-1)
g il
fifi 4 H N= 1 = 1 AT 1 &pT







HAMHEA T B A~ B R
(1) A TR
T ) WA AW | R i
Pu2-30B m 26.4 7.5 33.9
P3-D300 m 13.7 19.2 32.9
BF-B300-H200 m 34.0 24.9 58.9
HEAT

G1-B350-L600-H600 & 2 4 6
G1-B500-L500-H700 i 4 4 8

ESIN
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ORALX
« L ASUAH
=
AN
2800
T
©
Joyis#MT
H=0. 30m~2. 50m =3, 12m
Pu2-30B L=6.0m G1-B500-L500-H70D
Pu2-308 L=1. 2m
61-B350-L600-H600 Pu2-30B L=6. Of
P3-D300 L=13. Tm G1-8500-L500-H700
|
Y
1 / i
Y
O = ” 1N
= R T S —
2 B 3
g ' \ g
/ X
// G1-B350-L600-H600 | |Pu2-308 L=6. 0
// Pu2-30B | =1. 2
$uo-308 L=6.0d| G1-B500-L500-H700
// | ARToyyBI | | mammmc
= H=0. 50m~8. 69 L=13. 80m =16 2m
61-8500-1500-H700 || BF-B300-H200 L=34. Om |
| BERET |
A=87.91m £
Pu2-30B 6.0+1.2+6.0+6.0+1.2+6.0 = 2604 m
P3-D300 = 13.7 m
BF-B300-H200 = 34.0 m
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ORI Pu2-30B 1.5+2.2+3.8
« P3-D300 0.8+1.7+4.3+124

BF-B300-H200 14.5+10.4

BF-B30-H200 L=14. 5m

G1-B500-L500-H700

BF-B30-H200 L=10. 4m ” G1-8350- 600-HE00

I

7oy SEL
H=0. 3ml~4. 10m L3, 42m

Pu2-308 L=2.2m  G1-B350-L600-HE00

Pu2-30B L=1.5m_G1-B350-1 600-HAE00

G1-8500-L500-H700 || |
P3-D300 L

G1-B500-1.500-H700

P3-0300 L=4. 3m

/o || a1-B350-L600-HE00

Pu2-30B L=3.8m

G1-B500-L.500-H700 I
P3-D300 L=12 4n

7.5

19.2

24.9
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No.

18 -1

T Tl
= Y W
JEAB A Hll




No.

S. L
]/_
Al (m®/m) | & {F [} avyYy—F (m’/m)
% FR —— avyy—+h ——
& &t X i (m?/m) &/ At X i
(D] 2mE 57.974 63. 353
SWERAT Y Y — b 19. 345
EraLsou—+ 5. 663 10.195

a8 H 97.974 63. 353 19. 345 5. 663 10. 195
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No.

ks

3

¥

S. L

S o

3 =%

]/_

L,

Bt TE
r 1
| R, =4.700, R, = 7.050 |
| I
| [
| BITE t, = 0.300, RfFE t, = 0.050 :
|
| I
| «, = 14.7924970 |
| [
| [
| h, = 1.800, &#E t= 0.270 I
| [
| [
[ L, =R, — R, = 7.050 - 4.700 = 2.350 I
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No.
1) # HY
(1) XEtWrm
a. FE3Wrim
//
Ve
74
///
/ /s
o N/
/
/
7/
f/
‘-

Il

-

[ 1
. 1
| R, = 4.700, BZLJE t, = 0.300 I
} B LhE £, = 0.000, WAE t, = 0.050 |
| |
:r1=R1+to+t1+tz I
| = 4.700 + 0.300 + 0.000 + 0.050 = 5.050 I
L o

Va =7 X r,° X 1/2= 7 X 5.050° X 1/2 = 40. 059233

40.059 m*®,/m
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No.
b. TERWm
/
////
/] &,
[
I
[ ] _ L _
||
(I
- _ Y2
. {o ug 2 =
.
L.
L, _
-
r————"—"—"""™"™"" """~ """~~~ "~ «H— Hr—+/—/\ (}!H+H . Hn-nn—/"""—"""""""—7""— —|
: R, = 4.700, R, = 7.050, BITJ/E t, = 0.300, h, = 1.800 I
| EFAHBEt, = 0.000, WMFEt, = 0.050 |
l #oTHEL Y L. = 2.350000 I
l |
l r. =R, + ty, + t, + t. I
| = 7.050 + 0.300 + 0.000 + 0.050 = 7.400 |
: |
| L., =Jr.*- h,* - L, =/ 7.400° - 1.800° 2.350000 = 4.827743 |
|
! , ., h 1. 800 ) |
| @, = Sin = Sin! —— = 1470780386 |
| T 7. 400 |
L _
Vb—1=n><r22><o¢1’/3600—1/2><(L1+Lz)><h1
= 7 X 7.400° X 1470780386 / 360°
- 1/2 X ( 2.350000 + 4.827743 ) X 1.800 = 0.267520
Vb-2 = L, X h, = 4.827743 X 1.800 = 8.689937
Vb = ( Vb-1 + Vb-2 ) X 2
= ( 0.267520 + 8.689937 ) X 2 = 17.914914
= 17.915 m* “m




No.

(2)

R, =

P& N ]
ER T
//////////"——
//// C
s
V4
/////
7 7/
of W /
/ A
// -
//////
/. 4)[
1
I
i1 _

4.700, BILJE t, = 0.300

BB Et, = 0.000, WAEt, = 0.050
£t = 0.270

Ry + to ¥t + t, + ¢
4.700 + 0.300 + 0.000 + 0.050 + 0.270

r X r,° X 1/2=gx X 5.320° X 1/2

44. 457306
44. 457 m*® /' m




No.

b. AR

/
[/
[ &,
I
[
[ _ S. L _
i f
(=)
. o - 1 2
= b Re
L,

da

R, = 4.700, R, = 7.050, BITJ/E t, = 0.300, h, = 1.800
ERWAEHmEt, = 0.000, "RfFE t, = 0.050
£t = 0.270

|
| |
| |
| |
| |
| FETETiELY L, = 2350000 |
| |
: I = Rz + t, + t, + t, + ¢t I
| = 7.050 + 0.300 + 0.000 + 0.050 + 0.270 = 7.670 I
|
| |
| L, =Jr.>-h?* - 1L, =/ 7.670° - 1.800° - 2.350000 = 5.105796 :
' , .. h, o 1. 800 ) |
|l «,” = Sin” = Sin! —— = 1375727944
| T, 7.670 |
L
VSb_l =1 X I'22 X 061’ /3600 - 1/2 X ( L1 + Lz ) X hl
= 7 X 7.670° X 1375727944 / 360°

- 1/2 X ( 2.350000 + 5.105796 ) X 1.800 = 0.257771

Vsb-2 = L, X h, = 5.105796 X 1.800 = 9.190433
Vsb = ( Vsb-1 + Vsb-2 ) X 2

= ( 0.257771 + 9.190433 ) X 2 = 18. 896408
18.896 m’,/m
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No.
2) WfHrarrz)—h
a. _EERYWTIE
/////—_
Ve
Vv
//
ZO Y,
/ =
// /

/ jp[

/

!

| _
. 1
| R, = 4.700, ZLJE t, = 0.300 I
} B E t, = 0.000, WAHEt, = 0.050 |
| |
: Y = R1 + t, + t1 I
| = 4.700 + 0.300 + 0.000 = 5.000 I
L

Fa=2n X r, X 1/2=2x X 5.000 X 1/2 = 15. 707963

15.708 m*,/m
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No.
b. TERWm
<
|
|
r————"—"—"""™"™"" """~ """~~~ "~ «H— Hr—+/—/\ (}!H+H . Hn-nn—/"""—"""""""—7""— ‘|
: R, = 4.700, R, = 7.050, BITJ/E t, = 0.300, h, = 1.800 I
| EamEt, = 0.000, RAHEt, = 0.050 |
: |
| r, =R, + t, + t, = 7.050 + 0.300 + 0.000 = 7.350 I
! , . h, . 1.800 O |
| «,” = Sin” = Sin! — = 1421758035 |
I I 7350 |
.- - _
Fb =2x X r, X «, / 360" X 2
=2x X 7.350 X 1471758035 / 360° X 2 = 3.636992

3.637 m’,/ ' m
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No.
3) @7 VU—F
(1) et
a. BmlLayr7J—Fk
A
@1
_ S. L _
. - 12
< 2 3 2
L,
L.,
r 1
| R, = 4.700, R, = 7.050 :
I BTEt, = 0.300, h, = 1.800 |
| I
|t =Rt = 4700 + 0300 = 5.000 |
| r, =R, + t, = 7.050 + 0.300 = 7.350 :
[
| I
| L, =JR.? - h,? :/ 7.050° - 1.800° = 6.816341 I
|
| I
| L. =Jr.t -ne =d 7.350° - 1.800° = 7.126184 :
o B 1800 |
«. = Sin Sin 14° 7924970
| R, 7. 050 I
l e he 1800 . |
@’ = Sin Sin? ———— 14° 1758035
| rs 7.350 I

10
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No.

7 —TER
Vv, = X ( I, ’ - R E ) X 1/2
= 1 X ( 5.000° = 4.700* ) X 1/2 = 4.571017
fRIIBEET
L = X T 2 : X o 1 ’ / 3600
= 1 X 7.350° X 14.1758035 / 360° = 6.682973
S =1/2 X h, X L, =1/2 X 1.800 X 7.126184 = 6.413566
vs =11 X R,* X a, / 360
= 7 X 7.050° X 1477924970 / 360° = 6.416040
U4 =1/2 X h, X L, =1/2 X 1.800 X 6.816341 = 6.134707
V. = 0, *t v, — ( Vs * V4 )
= 6.682973 + 6.413566 — ( 6.416040 + 6.134707 ) = 0.545792
Va =V, +V, X 2= 4571017 + 0.545792 X 2 = 5.662601

= 5.663 m’,/m




No.

(2) bl

R,

////’
& //’
<
/
o/ 7/
A
//
/ ij
[
|
| _ _
|
ﬂ - L
< \ 2 2
L,
—————————————————
=4.700, R, = 7.050
BITJEt, =0.300, h, = 1.800

Ir,

I

L.

a. BlLarr7U—Fh

A& t=0.230

:R1+to+t
=R, + t, + t

— r22 _h12
h,

= Sin”
I

4.700 + 0.300 + 0.230
7.050 + 0.300 + 0.230

=v/ 7.580* — 1.800°
1. 800
7.580

-1

5.230
7.580

7.363179

1377370898

12
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No.
7 —FH
Vs =7 X (rlz_RIZ) Xl/z
= 1 X ( 5.230° = 4.700* ) X 1/2 = 8.266944
fRIIBEET
U s1 = X r22 X OL1, /3600
= 1 X 7.580° X 137370898 / 360° = 6.887800
v, =1/2 X h, X L, =1/2 X 1.800 X 7.363179 = 6.626861
Vs = axatWrmE, BLar 7 U — MUBEE v, ~ v, OFFF = 12.550747
Ve = Vsi T Vs — U
= 6.887800 + 6.626861 — 12.550747 = 0.963914
Vi = Vg + Vg X 2= 8266944 + 0.963914 X 2 = 10. 194772

10.195 m’ /' m
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No.

4) AL P
S. L _
o

r——"— """ ™>~F""™""~" """ "F"~—~—"FF~—F———f™F—/1\H»— ——77""""®>= _|
: R, = 4.700, R, = 7.050, BT/E t, = 0.300 I
| h, = 1.800, BUMZFEMRIER t, = 0.000, «, = 14.7924970 |
l |
|
| . =R, +(t, /2)= 470+ (0.000 /2) = 4.700 I
I r, =R, +(t, /2)= 7050+ (0.000 /2) = 7.050 I
I : ., _h, . 1. 800 ) |
| . = Sin = Sin? —— = 1477924970
| r, 7.050 I
| |
: Vo = ZEWEOBTaL 27— RED = 5.662601 I
| Ve = XHWREOBL= 27U —RED = 10. 194772 |
L - 1

14



18 -15

No.
< k>
Wl = (27 X R, X 90° /360" +2x X R, X a, /360" ) X 2
= (2x X 4.700 X 90° / 360°
+ 27 X 7.050 X 1477924970 / 360° ) X 2 = 18.405792
= 18.406 m* “m
FER = Ve - (272 X 1, X 90° / 360°

(F%EhH) +27 X r. X a) /3607 ) X t, X 2
5.662601 — (27 X 4.700 X 90° / 360°
+ 271 X 7.050 X 1477924970 / 360° ) X 0.000 X 2

F = Ve - (27 X r, X 90° / 360°
(3ZH0) +2x X 1, X a, /360°) X t, X 2
= 10.194772 - ( 2% X 4.700 X 90° / 360°
+2x X 7.050 X 1477924970 / 360° ) X 0.000 X 2

5. 662601
5.663 m®,/ » Ft

10. 194772
10.195 m* /# B

15



No.

18 -16

CI

T
= Y W
JEAB A Hll




18 -17

No.

CI Wfr

1800

T

| (m*/m) | & f I avoy)y—Fr (m’/m)
£ g1 avyy—+ -
%t X #h (m?/m) & Bt % i

EWE 58. 953 63. 353

EHEWMA IS ) — 19. 345

OO

BIavyY)—+ 5.663 8.996

a8 H 58. 953 63. 353 19. 345 5. 663 8. 996




18 -18

No.

W

3

¥

S. L

S o

3 oL

]/_

L,

Bt TE
r 1
| R, =4.700, R, = 7.050 |
| I
| [
| BITE t, = 0.300, RfFE t, = 0.100 :
|
| I
| «, = 14.7924970 |
| [
| [
| h, = 1.800, &#E t= 0.220 I
| [
| [
[ L, =R, — R, = 7.050 - 4.700 = 2.350 I
L -]




18 -19

No.
1) # HY
(1) ®REtWrm
a. FE3Wrim
//
Ve
/4
///
7
o N/
/ &
/4 o
]/
|/
{1/

[

[

[ |
. 1
| R, = 4.700, BZLJE t, = 0.300 I
} B LhE t, = 0.000, WAE t, = 0.100 |
| |
:r1=R1+to+t1+tz I
| = 4.700 + 0.300 + 0.000 + 0.100 = 5.100 I
L o

Va =7 X r,?2 X 1/2= 7 X 5.100° X 1/2 = 40. 856412

40.856 m*®,/m




18 -20

No.
b. THMIE
/
////
/] &,
[
I
[ ] _ L _
|
[ -
— ~ 1 2
. {o ug Z =
\
L.
L. _
-
r————"—"—"""™"™"" """~ """~~~ "~ «H— Hr—+/—/\ (}!H+H . Hn-nn—/"""—"""""""—7""— _|
: R, = 4.700, R, = 7.050, BITJ/E t, = 0.300, h, = 1.800 I
| EBELHmEt, = 0.000, RAEt, = 0.100 |
l #oTHEL Y L. = 2.350000 I
l |
l r. =R, + ty, + t, + t. I
| = 7.050 + 0.300 + 0.000 + 0.100 = 7.450 |
: |
| L., =Jr.*- h,* - L, =/ 7.450° - 1.800° 2.350000 = 4.879281 I
! , ., h 1. 800 ) |
| @, = Sin = Sin! —— = 1379816270 |
| ro 7. 450 |
L _
Vb—1=n><r22><o¢1’/3600—1/2><(L1+Lz)><h1
= 7 X 7.450° X 1379816270 / 360°
- 1/2 X ( 2.350000 + 4.879281 ) X 1.800 = 0.265658
Vb-2 = L, X h, = 4.879281 X 1.800 = 8.782706
Vb = ( Vb-1 + Vb-2 ) X 2
= ( 0.265658 + 8.782706 ) X 2 = 18.096728

= 18.097 m® m




18 -21

No.
(2) ¥ Wrm
a. FEBWrim
////////’—_—
S -
i
Va4
. S
of / /
/
/4 X
/;///
i jp[
11
I
11 _ S. L
r-——————"""""™""~""F"~" """~ —F~——————/—/—/1//1 " &—/rmtr—r—>»——,+7—"7"77r/yrT= _|
: R, = 4.700, BILE t, = 0.300 I
| ZEsWE . = 0.000, WAEt, = 0.100 |
} At = 0.220 :
| |
IrI:R1+to+t1+t2+t I
| = 4.700 + 0.300 + 0.000 + 0.100 + 0.220 = 5.320 |
_______________________________________ _J
Vsa= 7 X r,> X 1/2 =1 X 5.320° X 1/2 = 44. 457306
= 44.457 m®’ /m




18 -22

No.
b. TE W
/
////
/] &,
[
I
[ 1 _ S. L _
I _
I =)
) t o \’_ T 2
<
W Re
L,
L, _

-
. 1
| R, = 4.700, R, = 7.050, ZT/Et, = 0.300, h, = 1.800 I
| AR T, = 0,000, RFPE t, = 0.100 |
| &4t = 0.220 I
| FETETiELY L, = 2.350000 |
| |
:r2:R2+t0+t1+t2+t I
| = 7.050 + 0.300 + 0.000 + 0.100 + 0.220 = 7.670 I
|
| |
| L. =Jr.” - h,> -1, =/ 7.670° - 1.800° - 2.350000 = 5.105796 :
' h 1. 800
| @, = Sin® = Sin? —— = 13°5727944 |
| I 7. 670 |
L

VSb‘lZTC X I'22 X 061’ /3600_1/2X (L1 +L2 ) X hl
= 7 X T7.670° X 1375727944 / 360°
- 1/2 X ( 2.350000 + 5.105796 ) X 1.800 = 0.257771
Vsb-2 = L, X h, = 5.105796 X 1.800 = 9.190433
Vsb = ( Vsb-1 + Vsb-2 ) X 2
= ( 0.257771 + 9.190433 ) X 2 = 18.896408
= 18.896 m*’ m




18 -23

No.
2) WfHrarrz)—h
a. _EERYWTIE
/////—_
Ve
Vv
//
ZO Y,
/ =
// /

/ jp[

/

!

| _
. 1
| R, = 4.700, ZLJE t, = 0.300 I
} B E t, = 0.000, WAEt, = 0.100 |
| |
: Y = R1 + t, + t1 I
| = 4.700 + 0.300 + 0.000 = 5.000 I
L

Fa=2n X r, X 1/2=2x X 5.000 X 1/2 = 15. 707963

15.708 m*,/m




18 -24

No.
b. TERWm
<
|
|
r————"—"—"""™"™"" """~ """~~~ "~ «H— Hr—+/—/\ (}!H+H . Hn-nn—/"""—"""""""—7""— —|
: R, = 4.700, R, = 7.050, BITJ/E t, = 0.300, h, = 1.800 I
| KAt = 0.000, RAHEt, =0.100 |
: |
| r, =R, + to + t, = 7.050 + 0.300 + 0.000 = 7.350 I
| , ., h, o 1. 800 ) |
| @, = Sin = Sin! ——— = 1471758035 |
I I 7350 |
.- - _
Fb =2x X r, X «, / 360" X 2
=21 X 7.350 X 1471758035 / 360° X 2 = 3.636992

3.637 m’,/ ' m




18 -25

No.
3) @7 VU—F
(1) et
a. BmlLayr7J—Fk
A
@1
_ S. L _
. - 12
< 2 3 2
L,
L.,
r 1
| R, = 4.700, R, = 7.050 :
I BTEt, = 0.300, h, = 1.800 |
| I
|t =Rt = 4700 + 0300 = 5.000 |
| r, =R, + t, = 7.050 + 0.300 = 7.350 :
[
| I
| L, =JR.? - h,? :/ 7.050° - 1.800° = 6.816341 I
|
| I
| L. =Jr.t -ne =d 7.350° - 1.800° = 7.126184 :
o B 1800 |
«. = Sin Sin 14° 7924970
| R, 7. 050 I
l e he 1800 . |
@’ = Sin Sin? ———— 14° 1758035
| rs 7.350 I

10



18 -26

No.
7 —TER
Vv, = X (1'12 - 1%12 ) X 1/2
= 1 X ( 5.000° = 4.700* ) X 1/2 = 4.571017
fRIIBEET
L = X r22 X OL1, / 3600
= 1 X 7.350° X 14.1758035 / 360° = 6.682973
S =1/2 X h, X L, =1/2 X 1.800 X 7.126184 = 6.413566
vs =11 X R,* X a, / 360
= 7 X 7.050° X 1477924970 / 360° = 6.416040
U4 =1/2 X h, X L, =1/2 X 1.800 X 6.816341 = 6.134707
V. = 0, *t v, — (03 + V4 )
= 6.682973 + 6.413566 — ( 6.416040 + 6.134707 ) = 0.545792
Va =V, +V, X 2= 4571017 + 0.545792 X 2 = 5.662601

= 5.663 m’,/m




18 -27

No.
(2) Wi
a. Blayrl—h
////’
& //
4
%
o //
A
//
/ &,
/
|
I _ _
|
i \\ ) .
< \ = R 2
L,
r— """ """ """ "> ""F"""""F"—" "->"">">"FF """ """ "« V(= —|
I R, = 4.700, R, = 7.050 I
| BT/=t, =0.300, h, = 1.800 |
l &% t=0.170 I
| |
l r, =R, + to + t = 4.700 + 0.300 + 0.170 = 5.170 I
| r. =R, + to+ t = 7.050 + 0.300 + 0.170 = 7.520 |
| |
[ / |
| L. =Jr.? - h* =J 7.520° - 1.800° = 7.301397 |
| h, 1. 800 o |
| «,” = Sin® in! ————— = 1378488706 |
| I 7.520 |
L _

12



18 -28

No.
7 —TER
Vs =7 X (rlz_RIZ) Xl/z
= 1 X ( 5.170° = 4.700* ) X 1/2 = 7.286767
fRIIBEET
U s1 = X r22 X OL1, /3600
= 1 X 7.520° X 13.8488706 / 360° = 6.834353
v, =1/2 X h, X L, =1/2 X 1.800 X 7.301397 = 6.571257
Vs = axatWrmE, BLar 7 U — MUBEE v, ~ v, OFFF = 12.550747
Ve = Vsi T Vs — U
= 6.834353 + 6.571257 — 12.550747 = 0. 854863
Ve = Vg + Ve X 2= 7.286767 + 0.854863 X 2 = 8.996493

= 8.996 m’,/m




18 -29

No.

4) A
S. L _
“

r——"— """ ™>~F""™""~" """ "F"~—~—"FF~—F———f™F—/1\H»— ——77""""®>= —|
: R, = 4.700, R, = 7.050, BTJE t, = 0.300 I
| h, = 1.800, BUMZFEMRIER t, = 0.000, «, = 14.7924970 |
| |
|
| r. =R, +(t, /2)= 4700+ (0.000/2) = 4.700 I
I v, =R, +(t, /2)= 7.060+ (0.000/2) = 7.050 I
| |
| , ., h, . 1. 800 . |
| . = Sin = Sin? ——— = 1477924970
| I 7. 050 I
| |
: Vo = ZEWEOBTaL 27— RED = 5.662601 I
| Ve = XHWREOBL= 27U —RED = 8.996493 |
.- - _

14



18 =30

No.
< k>
Wl = (27 X R, X 90° /360" +2x X R, X a, /360" ) X 2
= (2x X 4.700 X 90° / 360°
+ 27 X 7.050 X 1477924970 / 360° ) X 2 = 18.405792
= 18.406 m* “m
FER = Ve - (272 X 1, X 90° / 360°

(F%EH) +27 X r, X a; /360" ) X t; X 2
5.662601 — ( 2% X 4.700 X 90° / 360°
+ 27 X 7.050 X 14.7924970 / 360° ) X 0.000 X 2 = 5.662601
= 5.663 m*,/ »fT

F = Ve - (27 X r, X 90° / 360°
(3ZH0) +2x X 1, X a, /360°) X t, X 2
= 8.996493 - ( 27 X 4.700 X 90° / 360°
+ 27 X 7.050 X 1477924970 / 360° ) X 0.000 X 2 = 8.996493
= 8.996 m*,/ »FF




No.

18 -31

CI-L(R) i
o OBE B W W omE
JEAB A Hll




18 -32

No.

CI-L(R) [t

et il

1800

T

i El (m*/m) | & f I avoy)y—Fr (m’/m)
% L avyyy—¢
%t X #h (m?/m) & Bt % i

EWE 76. 450 81. 400

EHEWMA IS ) — 21. 844

OO

BIravsoU—+ 6.412 10. 171

a8 & 76. 450 81. 400 21.844 6.412 10. 171




18 -33

No.

s

SIn

‘LI

S. L

j=al (e)

i o3

].L

L.
L.

s oC TR
- 777/ 00— B
| R; =6.200, R, =4.700, R. = 7.050 I
| I
| I
| BTE t, = 0.300, "RFE t, = 0.100 :
|
| I
| . = 1477924970, «; = 47:7314156, «. = 422685844 :
[
| I
| h, = 1.800, &#E t= 0.220 I
|
| |
| L, =R; - R, = 6.200 - 4.700 = 1.500 I
[
| |
| L., =1L, X Sin as; = 1.500 X Sin 477314156 = 1.110000 I
|
| |
| L =(R,-R,)-L,=( 7.060 - 4.700 ) - 1.110000 = 1.240000 :
|
| |
| hy; =L, X Cos as; = 1.500 X Cos 477314156 = 1.008910 :
.-




18 -34

No.
1) 8 HI
(1) B
a. EEBFMrim
/////// T
b s
o ///
7/ C,
72
7/ o
A (V3
//// (P{
[ 3 .
[ N s, L
o
L.
r 1
| R: = 6.200, R, = 4.700, ZTLJE t, = 0.300 I
} B E t, = 0.000, WAEt, = 0.100 |
| «s = 477314156, «. = 4272685844 :
: TR LY L. = 1.110000, h. = 1.008910 |
| |
|t =Rot ottt o+t |
| = 6.200 + 0.300 + 0.000 + 0.100 = 6.600 :
lrI:R1+tU+t1+tz |
| = 4.700 + 0.300 + 0.000 + 0.100 = 5.100 I
L
Va-1=( 7 X rs;* X a3 /360 - 1/2 X L, Xh, ) X 2
= ( ©m X 6.600° X 477314156 / 360°
- 1/2 X 1.110000 X 1.008910 ) X 2 = 35.168655
Va2 =7 X r,* X a, / 360° X 2
= 1 X 5.100° X 4272685844 / 360° X 2 = 19. 188252
Va = Va-1 + Va-2 = 35.168655 + 19. 188252 = 54. 356907

54.357 m’ /m




18 =35

No.
b. TERWm
7
/7
//
////
/1 2
11
|
[ - S. L -
'
B t o L. 12
< (R R 2
I L,
L,
r————"—"—"""™"™"" """~ """~~~ "~ «H— Hr—+/—/\ (}!H+H . Hn-nn—/"""—"""""""—7""— —|
: R, = 4.700, R, = 7.050, BITJ/E t, = 0.300, h, = 1.800 I
| EFAHmE L, = 0.000, WMAFEt, =0.100 |
l #oTHEL Y L, = 1.240000 I
l |
l r. =R, + ty + t, + t, I
| = 7.050 + 0.300 + 0.000 + 0.100 = 7.450 |
: |
| L. =Jr.*- h,* - L, =/ 7.450° - 1.800° - 1.240000 = 5.989281 I
! , ., h 1. 800 ) |
| @, = Sin = Sin! —— = 1379816270 |
| T 7. 450 |
L _
Vb—lzﬂt X I'zZX 041, /3600_1/2X (L3 +L4 ) X hl
= 7 X 7.450° X 1379816270 / 360°
- 1/2 X ( 1.240000 + 5.989281 ) X 1.800 = 0.265658
Vb-2 = L, X h, = 5.989281 X 1.800 = 10.780706
Vb = ( Vb-1 + Vb-2 ) X 2
= ( 0.265658 + 10.780706 ) X 2 = 22.092728

= 22.093 m®,m




18 -36

No.
(2) Z#Wrim
a. EFEBMrm
////ff—::_—:
//////////
50 /////
//
WV e
W/
i/ >
A (V3
I A
I 7
i I
Il | 9 s, L
o
L.
r-——————"""""™""~""F"~" """~ —F~——————/—/—/1//1 " &—/rmtr—r—>»——,+7—"7"77r/yrT= —|
: R, = 6.200, R, = 4.700, BLE t, = 0.300 I
| ZEsWE . = 0.000, WAEt, = 0.100 |
} At = 0.220 :
| s = 477314156, «. = 4272685844 |
I L~ LY L. = 1.110000, h, = 1.008910 I
l |
Ir5=R5+to+t1+tz+t I
| = 6.200 + 0.300 + 0.000 + 0.100 + 0.220 = 6.820 |
Ir1:R1+tU+t1+t2+t I
| = 4.700 + 0.300 + 0.000 + 0.100 + 0.220 = 5.320 |
.- - _
Vsa-l = ((n X rs® X as /360" - 1/2 X L, Xhy ) X 2
= (g X 6.820° X 47°7314156 / 360°
- 1/2 X 1.110000 X 1.008910 ) X 2 = 37.628212
Vsa—2 = n X 1.,° X a, / 3607 X 2
= 7 X 5.320° X 422685844 / 360° X 2 = 20.879415
Vsa = Vsa-l + Vsa-2 = 37.628212 + 20.879415 = 58.507627

58.508 m’,m




18 =37

No.
b. TE W
Ve
/'
/7
////
/1 @
11
|
[ _ S. L _
1
’ to Lo L2
< Wy = R=2
I L,

L.
. 1
| R, = 4.700, R, = 7.050, BT/ t, = 0.300 I
| AR T, = 0,000, RFPE t, = 0.100 |
| &Pt = 0.220, h, = 1.800 I
| FETETiELY L, = 1.240000 |
| |
:r2:R2+t0+t1+t2+t I
| = 7.050 + 0.300 + 0.000 + 0.100 + 0.220 = 7.670 I
|
| |
| L. =Jr.” - h,> - 1L, =/ 7.670° - 1.800° - 1.240000 = 6.215796 :
' h 1. 800
| o’ = Sin® = Sin? —— = 13°5727944 |
| I 7. 670 |
L

VSb‘lZTC X I'22 X 061’ /3600_1/2X (L3+L4) X hl
= 7 X T7.670° X 1375727944 / 360°
- 1/2 x ( 1.240000 + 6.215796 ) X 1.800 = 0.257771
Vsb-2 = L, X h, = 6.215796 X 1.800 = 11.188433
Vsb = ( Vsb-1 + Vsb-2 ) X 2
= ( 0.257771 + 11.188433 ) X 2 = 22.892408
= 22.892 m* m




18 -38

No.
2) WfHF=mr s U—k
a. _EEEMmE
r————"—"™""™""™"™""""™""™""F"«"—"™"F"F"—"="—"—"—"™"""«"""—"~F """ "~ "~ "~ —""~""—""""""""”""” " ™ —|
: R, = 6.200, R, = 4.700, BLE t, = 0.300 I
| EBES£HBEt, = 0.000, RfFEt, = 0.100 |
} a, = 47°7314156, «. = 42° 2685844 :
| |
I rs =Rs + to + t, = 6.200 + 0.300 + 0.000 = 6.500 I
| r. =R, + to + t, = 4.700 + 0.300 + 0.000 = 5.000 |
L _
Fal =27 X 1: X as / 360° X 2
=27 X 6.500 X 4777314156 / 360° X 2 = 10.829915
Fa2 =2xn X r, X a, / 360° X 2
=927 X 5000 X 42°2685844 / 360° X 2 = 7.377260
Fa = Fal + Fa2 = 10.829915 + 7.377260 = 18. 207175

18.207 m* /m




18 -39

No.
b. TERWm
<
|
r————"—"—"""™"™"" """~ """~~~ "~ «H— Hr—+/—/\ (}!H+H . Hn-nn—/"""—"""""""—7""— —|
: R, = 4.700, R, = 7.050, BITJ/E t, = 0.300, h, = 1.800 I
| KAt = 0.000, RAHEt, =0.100 |
: |
| r, =R, + to + t, = 7.050 + 0.300 + 0.000 = 7.350 I
| , ., h, o 1. 800 ) |
| @, = Sin = Sin! ——— = 1471758035 |
I I 7350 |
.- - _
Fb =2x X r, X «, / 360" X 2
=21 X 7.350 X 1471758035 / 360° X 2 = 3.636992

3.637 m’,/ ' m




18 -40

No.
3) a7 U—k
(1) ®&Errm
a. BlLarr7U—Fh
- - 12
< é 3 R 2
L.
L
r e e e 1
| R; = 6.200, R, = 4.700, R, = 7.050 :
| BTMt, =0.300, hi = 1.800 |
| s = 477314156, «. = 4272685844 I
| |
I
| 15 =R, + t, = 6.200 + 0.300 = 6.500 I
|t = Rotte = 4700 +0.300 = 5.000 |
| r., =R, + t, = 7.050 + 0.300 = 7.350 :
I
| I
| L. =JR.,? - h,° :/ 7.050* - 1.800° = 6.816341 I
I
| I
| L, =Jr.> - h,’ =/ 7.350° - 1.800° = 7.126184 I
| ~ h, . 1.800 o I
|l a, = Sin® = Sin! —— = 1477924970
| R, 7. 050 |
! : . h, ., 1.800 O |
| «,” = Sin” = Sin? —— = 1471758035
| I, 7. 350 I

10



No.

18 -41

Vv,

VCI

X (rs* - Rs* ) X a; /360" X 2
X ( 6.500° = 6.200° ) X 47.7314156 / 360° X
nX(r,? - R/* ) X «a, /360" X 2
7 X ( 5.000° - 4.700° ) X 4272685844 / 360° X

v, * v, = 3.173998 + 2.146783

T X 12" X a, / 360

7 X 7.350° X 1471758035 / 360°

1/2 Xh, XLs; =1/2 X 1.800 X 7.126184
7T X R,*X a; / 360°

T X 7.050° X 14.7924970 / 360°

1/2 Xh, XL, =1/2 X 1.800 X 6.816341

D1+Dz_(D3+U4)
6.682973 + 6.413566 - ( 6.416040 + 6.134707 )

V, +V, X 2= 5.320781 + 0.545792 X 2

. 173998

. 146783

. 320781

6. 682973
6. 413566

6. 416040

6. 134707

. 545792

0.412365
6.412 m® /m

11



No.

18 —42

(2) bl

a. BlLarr7U—Fh

S. L _
<
L,

r— """ " «™ -+ ¥ ¥+ !V T
R; = 6.200, R, = 4.700, R, = 7.050 I
BIT/E t, = 0.300, h, = 1.800 I
& t=0.170 |
o, = 14.7924970, «, = 47.7314156, o, = 42.2685844 I

I

rs = R; + to + t = 6.200 + 0.300 + 0.170 = 6.670 I
r. =R, + t, + t = 4.700 + 0.300 + 0.170 = 5.170 I
r. =R, + to + t = 7.050 + 0.300 + 0.170 = 17.520 I

I

L, =/r.> - h,° =/ 7.520° — 1.800 = 7.301397 I

, ~ h, o 1. 800 ) I

a, = Sin” = Sin' ——— = 13. 8488706 |
T 7.520 |
_______________________________________ _

12



No.

18 -43

Vs,

VCSI

X(r;* = Rs* ) X a5 / 360° X 2

7 X ( 6.670° - 6.200° ) X 47.7314156 / 360" X 2

nX(r,” — R, ) X a, /360" X 2

7 X ( 5.170° - 4.700° ) X 4272685844 / 360" X 2

Vs * Ls = 0.039159 + 3.422237

7 X r." X a / 360

© X 7.520° X 1378488706 / 360°

1/2 Xh, X L, =1/2 X 1.800 X 7.301397
REHWrE, BTLar 7 U — MABEER vs  ~ v,

Usi T Vs — U
6.834353 + 6.571257 — 12.550747

Vg + Vg X 2= 8.461396 + 0.854863 X 2

T

. 039159

. 422237

. 461396

6. 834353
6. 571257

12.

10.
10.

5560747

. 854863

171122
171 m’ /m
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18 -44

No.
4) B
S. L _
<
r———"—>"™"™""™"™"F""F"™"F""~"™""F""F"~"—""—"—"FF"~—"—""~—"—F"—"~—F"— — —~~—"—~—F"~—F""—F"—"—"F" """ "™~ —|
: R. = 6.200, R, = 4.700, R, = 7.050 I
| BTHE t, =0.300, h, = 1.800, BIFIFEHRIZERR ¢, = 0.000 |
I a. = 1477924970, s = 4777314156, «. = 42° 2685844 I
' |
I r; =R, +(t,/2)= 6.200+ (0.000/2) = 6.200 I
| r. =R, +(t,/2)= 4700+ (0.000/2) = 4.700 I
I r, =R, +( t, /2)= 7.050+ (0.000/2) = 7.050 I
I , ., h, . 1.800 ] |
| @’ = Sin = Sin? ——— = 14°7924970
r. 7. 050 |
| |
: Vo = REEOBTaL 2 U—1LED = 6412365 I
| Ve = XHWmEOBILa 27U —hED = 10.171122 |
L _J




18 -45

No.
<EE>
Wl = (27 X Ry X as /3600 +27x X R, X a, / 360
+ 21 X Ry, X a, /360° ) X 2
= (27 X 6.200 X 477314156 / 360°
+ 271 X 4.700 X 4272685844 / 360°
+ 27 X 7.050 X 1477924970 / 360° ) X 2 = 20.905003
= 20.905 m*,m
FER=Va - (272 X 15 X a5 /360" +27 X r, X a, / 360
(FxEH) +27 X 1, X a, /360" ) X t, X 2
= 6.412365 - (27 X 6.200 X 47°7314156 / 360°
+ 271 X 4.700 X 4272685844 / 360°
+ 27 X 7.050 X 147924970 / 360° ) X 0.000 X 2 = 6.412365
= 6.412 m* / »FFT
FEW = Ve - (27 X 15 X ay /360 +27 X 1, X as / 360°
(3ZH0) +27 X 1, X a /360" ) X t, X 2
= 10.171122 - (27 X 6.200 X 4777314156 / 360°
+ 27 X 4.700 X 4272685844 / 360°
+27x X 7.050 X 147924970 / 360° ) X 0.000 X 2 = 10.171122

10.171 m?* / » By
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